B ap e p 5
i AN B

= EN Ao

At 7
Ll LI

AL IE P i iR Wk i R
S LERET AR R [0 % LRk | #FE 3044 4G
e kAR5 4 5 | (CIPAC MT36.1) » 5 | Agd 2ml 2 7 54 1
2\
E

Heite  4egu Al (EC,
ES) ~ -k z 5 A
(EW) ~ fic 5 4l
(ME) %#3) & %

54 + 2°C*% % 14 p >
5% (VIV)H- A -k AR
R o

wokde o

20BiLT T5%46 F &
S -

Fuoiv & MR R
(CIPAC MT36.2) > &
54+2°C*< % 14 p >
1%(v/Iiv) & % & -k i
it -

FE 2 s
Jis /1> 90% 1 110% -

3T FLH o

Fuoiv & MR R
(CIPAC MT49.2) » fie
1% (VV) I3 AT -k
# % 1000 ml -

nAs Hi;b ) f_@] S
ok
SR

1 * prie kiR
R Ao R
53] (WP~ -k A %
Ha @ (WG) -~ -k
Aok A (WT)
~ k& A (SC,FS) ~
BE R EFHR (CS)-
W kR & (ZC)
M EES X

R SRRRE 0 5 544
2C* % 14 p > 1%
(wW/v) &85 -k A1

i e

2.70% @t 5. ¥R ¥ %
¥ A o

R Rl o i 54T
2C* % 14 p > 0.2%
(WIV) i 3 5T K - 8
i e

RN = EF
&R R 2 A
g A(WP) -

R xr2eE o 1%
(W) 38 AL -k 4 1
iR e

B A ek

N g TS

I A T Al I

it A A do KRR | 5% (WIV) 12 AT KA | 70% -
(SCHO~ B ERFH | m o
’#/li’
(CS)~ "3 F kiR &
(ZC) = &3+ & L&
‘:&J}“O
e e R B A LRk | PR

RS s I




]+ 4o | (EC,ES) ~
Kk 5B (EW) ~ st

#(ME) ~ 7% 7% (SL) ~

Rk A (WP,
WS) ~ -k A g
(WG) ~ M fofs ®
A (WT) ~ /e el
(SP) ~ "k i3 e
(SG>‘ SR e |
(ST)~ J»Aa\*‘zl“* e A
(DC) ~ "k # (SC,

FS) % & & ¥ #
(CS)~ kA fgihi &

A (OD) ~ k& - #
(SE)~ " % -k 7 iR Al
(ZC)~ "3 & 52 4|
(ZE)~ % $ -k 748 A

(ZW) E &3] = 5B
= o

(CIPAC MT 47) > i
(ENY S NS N
ALK R o

60 ml x4tz ek °

i@ ek A 2
A A A 4o v R g
(WP, WS) ~
A (WG) ~
S (WT)

A (SG)~ kia i v Al
(ST) %47 & 5L

2 o

kA feht
kA g
ki
#H (SP)~ kg dhie

K& 7] % % (CIPAC
MT53.1.1) -

FOCiE AT 2 %R
/3—.5‘3’:]3& v A iF 3;&@3
A R

W

1.7 # pz}%t J\ﬁr%§7
A v ks A
(WP,WS) ~ -k & #¢
A (WG) ~ -k &
b A(WT) ~

% 1145 #(SP) ~

% 1 4% (SG) ~

B EAEST) Y ok
% #|(SC, FS) ~ -k &
%ﬂi%ﬁﬂDC)‘%
£ R FH(CS)-~

AR AR ﬁgnj
(OD) ~ k& 5 A&
(SE) ~ % & -k &
A(ZC) ~ & R 5
BB (ZE) ~ B ok

g ?‘;é.'aés(ii L
CIPAC MT 185) » & 54
+2°C%% 14 p -

L2 4 5 - 95%
v b idig 0.150
mm 3t 25 & o

2.8 & BB oE
98 % 1 F il i
0.075 mm 3t 5




FURA (ZW) = A
05 5L -

2.7 @ A R EFE
0 %% F%%E’J(ﬁ?
H2 &7 o

N G e
CIPAC MT 182)> % 54
+2C*% % 14 p -

3.E &R 2 A
(DP, AP)#[ 3| = =
RE-

G 5 ok A 47 2
(CIPAC MT 187) > &
54+2°Cc% 14 p o

o i %llf’?' % ’gﬁfrl
5 9501 b
50+ 0.150mm -
2.4 A A B kA
B > 98% b

Azl * 0.075mm

o

1.75%
2

Ak EERE AT
ﬁwazLﬁH%

2 A ]37] 2
H#(AP) -

it S

98%+ ! i i 0.500
mm 32 3 5 -

S

B4R * 2 | (GR)
HA SR E

§C &5 > 1T 5412°C
%% 149 o

98% 14 + i 1.70
mm 3t 5 EE & 0 5%
1T i iR 0.106 mm

a5

Rin g R LR
#i2 (CIPAC MT
176) -

Wi e RIS S 0.25
mm > pE A 12mm
2_ i@ g L PEE R R
A 30 f’l}«"}‘ roe

2 T I & e

kA s s &(DC) -
O TR CAR I |
(OD) ~ ik & 5 #](SE) ~
W % 548 # (ZE) ~ %

20 T i S A = e

(CIPAC MT 180) > &

54+2°C3« % 14 p >
1% (V) 1% 242 -k 418

i%SZ E 1 /J~ BE,‘: ’ /J‘U&E\'
PR WA
0.5ml -

k50 R A (ZW) E A | 7 o
N4 & B E
IR AR Tt R R | 92%r1 1 o

(CIPAC MT 57) » # 3~
T b B o

F39:3 e FUH| o AL B Bz (CNS|[10~25cSt (40°C) -
3390) > #FH B~ 4 R
E
g T b b FUH| o wwF B2 (CNS|0.78~0.92 (15.5C
12017 ) > $& B~ 47 Bl | 115.5°C ) -
E
g

- “CIPAC 4 % L #4512t g o

N

fiv 1y

et o glA 1T 2 B

F ot fn R A -k 5 342 ppm AL -k (CIPAC MT 18.4) -
~ T AW R RAIE P LA BA+2°C s L w p o2 W AT
A (dok e ~ ko 2 R A1)~ 80% 4

3

[ 4N




y

> oA

18.7%:E = 5L AR &k & {ﬁizw 32.5% I

;ILC $FL44T /E’—

A ~38%0 7| s AT A AT~ 40%5F < ok R R B 2 RS

NELE = -

5442 C%E L P2 L e

et BB A S 30% K FR AR T ORI R 0 LR BIKIREE o
CEATHTRERA S ELY > AR

kR

2% o



